_Subdivision of T 239+ N., B, 20 B 13.

Chs.

79-90

4.20
3‘7 '82

17.91
39.96

S. of cor. a k A

and raise a mound of stone 2 ft. base, 1% ft. high,
N. of cor.

The cor. of secs. 20, 21, 28 and 29. e

This mile is on mountainous land. The soil is very
stony and unfit for cultivation.

‘' There is a falr growth of sagebrush and bunchgrass, - No
_tlmber. v , August 27, 1914

Qctober 29 From the cor. of secs. 20, 21, 28 and 29,
heretofore described, I run '

N.0°3'W. between secs. 20 and 21.

Over mountainous land..- Ascend 10 ft. ocn SE. slope to
top of spur.

spur, projects N.60°E.; descend 215 ft. on NE. slope

‘'to Closing Corner.

Intersect the South Bdy. of T. 40 N., R. 20 E., at a

‘point 23.43 chs, S.89°23'E. of the cor. of secs. 32

and 33, and at point of intersection set an iron post
3 ft. long, 2 ins. in diam., 24 ins. in the ground for

(the Closing Corner of secs. 20 and-21, with brass cap

mkd

T4O N RZ20E

‘and raise a mound of qtone 2 . base,_l% ft. high,

S. of cor.

Almost the wnole of this line is on the NE. slope
of & mountain. The soil is very rocky and unfit for
cultivation., There is a sparse growth of sagebrush.
No timber. » ' ’

From the Closing Corner of secs. 20 and 21, I run
S.89°23'E. on a blank line on the N. Bdy. of sec. 21. °

The:4 sec. cor., referrlng to sec. 33, described in

Book "R%, on line.

At this point, which is the middle point of the N. Bdy.

of sec. 21, I set an iron-post 3 ft. long, 1 in. in

‘diam., 24 ins. in the ground for 4 sec. cor. referring
to sec. 21, with brass cap mkd:

S

3 _
S 21 . S
1914 -
and raise-a mound of stone 2 ft. “base, 1+ ft. high,

October 29, 1914.

¢

: Augu$t-25 At gy 15 m A.M., L.m.t., I set off 41918

- on:the lat. arc, 10°55.5'N. on the decl. arc, and deter-

10.00
12.00

40.00 -

mine & meridien at the cor. of secs. 5, 6, 31 and 32 on
the 8. Bdy. of ‘the townsh1p, described in Book "A%.

Thence I run: -

N.0°4'W. between secs. 31 and 32.
Over mountainous land.__Ascend 135 ft. on SE. slope

-to -4 sec. ‘cor:

Enter mountain laurel, bears NE “and sW.
Leave same, same bearing. '
E. slope of high- rocky point; descend 390 ft. on N. slope
to - ‘ravine.

Set an iron post 3 ft. long, 1 in. in diam., 18 ins




